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Prime factorization.6

Color the number 5 so that it 
looks like it is in the middle (in 
front of one of the numbers 
but behind the other one).

Circle and count all the 
letters N.
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3 1 1 	 x	  
   9

3 6 6 	 x	  
   6

9 0 6 	 x	  
   4

2 7 4 	 x	  
   6

5 9 1 	 x	  
   6

6 9 6 	 x	  
   4

4 7 3 	 x	  
   6

3 5 4 	 x	  
   7

Multiplication and division skills building.9

3  ‪ 4 2 6 	 R =

2  ‪ 3 6 7 	 R =

9  ‪ 9 7 8 	 R =

4  ‪ 7 7 6 	 R =
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	‣ Myra’s secret number has the following 
clues:

1.	 It is more than 7 + 3.
2.	 It is less than 8 + 5.
3.	 It’s also an odd number.

What is Myra’s secret number?

Solve the problem.11

Quick counting.10
7 + 14 ÷ 2 = ______
4 ÷ 2 ÷ 2 = ______
18 - 12 + 21 = ______
16 ÷ 8 + 17 = ______
9 + 4 × 5 = ______
4 × 4 + 10 = ______
7 × 3 + 6 = ______
4 ÷ 2 + 7 = ______
9 - 6 - 2 = ______
4 × 3 ÷ 2 = ______

16 + 2 - 16 = ______
4 × 5 ÷ 4 = ______
3 × 4 + 12 = ______
12 ÷ 2 - 4 = ______
4 × 4 - 4 = ______
9 + 13 - 13 = ______
8 + 2 × 10 = ______
16 ÷ 4 - 2 = ______
17 - 15 + 26 = ______
2 × 7 + 9 = ______

3 × 5 + 12 = ______
4 × 3 × 2 = ______
8 + 10 + 9 = ______
4 + 3 × 8 = ______
4 × 3 + 11 = ______
5 + 20 - 18 = ______
16 ÷ 4 ÷ 2 = ______
18 ÷ 6 - 2 = ______
10 + 4 ÷ 2 = ______
16 ÷ 8 + 26 = ______

Calculate how much change is required for each transaction.12
Cost of 
items

Amount 
paid

Change 
required

$5.12 $10.00

$4.21 $5.00




